(»)l’l') bs Thec “"'h’\ The Q{O‘)‘F(-\_c_;
(ﬁLF\«‘VLl&'{"l&AV\ Og ve < Spres ?

E)(A.MF(Q < LZZO/’j = /)LL-L S+ c‘(
T’C"-(" \/«./l_x.af 7':'\,.-46,‘8‘.‘)»15 f.’ EO/’I_] — K

Sc._f\—} S'Fbl):r\j

l
% %‘(x)lvcx ex.st s .
(&

Dufins it & seulic ks of
—F\VULC.Q-‘(M\J' . 6((/:/\ c € ﬂz/ g(%)/j(xj

(}—(—D) (x) = -S—(x)—!—(j('x)
(aﬂ:)f’%) = a 50O

KQC%\/\’- an vnirerc ?@Mc+ .
<§-<»<>/3(>0> = 5 F-(x)\j(?o,@«

C(«,fmi ’(}\‘;" 3 df‘-rﬂ.{'/“on\f
V\’\.‘L/CC LZEOI(D .(:I\T—O an :nM(-_







%

/{vu‘]’lu,r Cad on F‘b( ‘\,Lf""f“lfr{’zoﬂ.
2 dnsr o O skandacd brats

z = (l/o/ /O)
l
z.x (o,l,o, -, 0D
2,. = (0, - /O/ l)
> n
l(’af-:-r}_j E‘J“J v &€ ﬂ& 91&.)'
/’/Lvr. ‘Fb('/l/‘
AN AN S
S _oae, ta,t, £ 4,8,
\/ - y 2
(_/—\F /
Ctl(@,&a = (:M<< Cbmél:"?‘\_‘J';a/z ‘
5C—1[&fd a7y,

V(,../

’ﬁs( S 0L u—*\lzc«.&
Proot s (5\:“3 . Lt > = (

| e

Vi)



“L<o/o/ Y O/ \/0\)

bus VlCIJO,-',O>

4 v,Co,l o -, 0)

7

+U"\(OJ-’ ’O/‘)

AN AN BN
VAU AR R AR

-

Next, s+q9 /S R ts a
SC«ESﬁ‘\C«— fF

i
° O € \/

e QaC ]’(2/ J\é \/ % &ié V
o L)L/_v)é J = T+ €
c.y A L‘Lﬂe ﬁtm'«(jk +re ar:?:«\

(o &« Suéo"a«% _



A(fo/ a r(*zru. 7‘%“_\94\ Hra 5r7 5 ta

[y & 0‘(450'{0'«,% ,

f('ob(em: S%BJfﬂ% /' Apes neot

74

/%ﬁl/e— n \\ff‘ﬁm/<'rj bas.,s

So we mudf ftc.l{ “n 4,(‘6:{"(*:-\(3

What e wtaf s

) le 4—'(19

Mﬁv

L-A/\/ ¢
Z




1

so Thit  fic any 6(_ \/ we Can

Wl +& \ \
j'”‘b +c‘2£z

D
(WDewt T8 vect orv ]?’/b & \/

for o= bniget Scalars “), " éfK

/Atho“]’bu_( 2'9'
N
(,b‘k ,: Q’/l/ l>
—le: (,/_Z—/3>
\)/ -3 QL Nz 2,30
- Cl)’()‘:)’).
>
V /Q/l‘uf gHendart coscd (l//11/3)
1N op s R’

But v HPav crordinntes (37
oy &n &LvaLw‘l‘ a'? 17,\, (n% \/

[ -
wi - NJ/O—LG-F & Nhe beasis i/&

J z .



i N

ve<dor 5/«; \/)
v )

Given é,Qvtr-\,l

what 15 = Lasts

('/of\f;‘}"'f 0 Scf of vec fors

B § 6 b, tuis vV

o SaJ D is a ;Fqnn,‘,\) st Y€
Tor a ‘_/>é \/, flo—~ e ot
nd lenst ene cheice f serlaev
Oy, - s %m sweh Pk

/

PO Y PO S )

V - ) €1

°© s‘”—j /('3 16 <(‘:M’/\-/5’) ;V\/Q-z(aacneﬂw;.]_
fg fﬁr ‘\,N jC’. \// e a 15 q\__-f;

/U\of(’ O N C,L'LQIQ o"F 6(,!1{&\_(5

[
—

&'l)'l/“'v\a 57/%:‘;;‘9“/\\-7 @‘



A basis is & of B< V

/r)"lf (5 Jfam!/\‘mj £ |n oQLflthJl‘u'lL.
(. L. éuerp Gé V' Hav exqz,-(—(7 O

exPriss i o~ o€ e f»rm

AN
\)/: ’l[é, +6\72 r -~ fAa.

Sl

I/‘- iy Cale we It <‘\1 ) - )
“ ¢ u\j -
/h,‘.{— %-—C—OA((K"H Vl+(.5 ‘).g V ‘

) P
v <q'/ﬁ7—/'/a’w‘>B

N n B oo dinnes

j-mf"‘r"""’l' T srem !

1f Veetol oprce \V4 /a\‘\d < basis
a'g 5. 2e ‘/\/ K" X iﬁ) 6&5.\5" &€ \/
}U"r Sige N, Ta wl'\fél'\ CafFe W& O“Lj

@ZM\/: ”1




Pmef © HW L.

T M(otc . Standecd bass st ﬁzb\
= Y
%Q\T n &(QMA-LV\.'('J e(/ ZZ} - L SN

/Qvl_nc_e_ l‘tm ‘/RV\ = n.
e

C@Msf’ ron
ﬁsz L’z CO/ '—] - 7

lO(_C_V:*LL,& : At wr [_:Lfo,l_] = 52 .

‘l

Bt F sl Ras T heses
e.5. A= s}



